RAJARAJESWARI INSTITUTE OF PARA MEDICAL SCIENCES

Exam Results Subject wise list of Annual Examinations October 2022

Para Medical 1st Year DMLT (Scheme Rs2)

Total No of students appeared for exam - 20

Sl. No.	Subject	No of Students appeare	No of student s Pass	Percentag e	Distinc tion	I class	II class	Pass	Total Results %	No. of Student s pass
1	Chemistry	16	9	56.00%						
2	Physics	19	8	42.00%		940		7	35%	7
3	Biology	16	10	62.00%	-	-	-	,	3370	,
4	English	15	15	100.00%						

II nd Year DMLT (Scheme Rs2)

Total No of students appeared for exam - 30

Sl. No.	Subject	No of Students appeare d	No of student s Pass	Percentag e	Distinc tion	I class	II class	Pass	Total Results %	Total No. of Student s pass
1	Anatomy	25	17	68.00%						
2	Physiology	25	17	68.00%						
3	Biochemistry	24	10	42.00%	-	-	-	7	23%	7
4	Pathology	27	9	33.00%						
5	Microbiology	23	9	39.00%						

Para Medical Final Year DMLT (Scheme RS2)

Total No of students appeared for exam - 13

Sl. No.	Subject	No of Students appeare d	No of student s Pass	Percentag e	Distinc tion	I class	II class	Pass	Total Results %	Total No. of Student s pass
1	Biochemistry	13	11	85%						1
2	Microbiology	12	7	58%	-	1 .2	-	7	54%	7
3	Pathology	13	10	7700%						

Para Medical 1st Year DOT&AT

Sl. No.	Subject	No of Students appeare d	No of student s Pass	Percentag e	Distinc tion	I class	II class	Pass	Total Results %	Total No. of Student s pass
1	Physics	15	10	66.00%						
2	Chemistry	15	9	60.00%		1. 0		10	FF0/	10
3	Biology	16	11	68.00%			-		55%	10
4	English	14	14	100.00%						

Para Me	dical II Year, DOT&A	Т								
Total No	of students appeared	d for exam	- 24							
Sl. No.	Subject	No of Students appeare	No of student s Pass	Percentag e	Distinc tion	I class	II class	Pass	Total Results %	Total No. of Studen s pass
1	Anatomy & Physiology	22	9	41.00%						
2	Biochemistry, Pharmacology, Microbiology	21	10	48.00%	-	-	-	6	25%	6
3	Fundamentals of OT (theory)	19	10	53.00%						
4	Practicals	19	10	53.00%						
Para Me	dical Final Year, DOT	&AT	•							
Total No	of students appeared	d for exam	-							
Sl. No.	Subject	No of Students appeare	No of student s Pass	Percentag e	Distinc tion	I class	II class	Pass	Total Results %	No. of Student s pass
1	Anesthesia & Allied	11	10	90.00%						
2	Operative Prodedure	10	10	100.00%	-	-		10	90%	10
3	Practicals	10	10	100.00%						
Para Me	dical 1st Year DMIT									
Total No	of students appeare	d for exam	- 20							
Sl. No.	Subject	No of Students appeare	No of student s Pass	Percentag e	Distinc tion	I class	II class	Pass	Total Results %	Total No. of Studen
1	Chemistry	16	3	19.00%						
2	Physics	16	6	37.00%				2	10%	2
3	Biology	14	6	43.00%	-	-	-	2	10%	2
4	English	9	9	100.00%						
Para Me	dical II Year DMIT		•							
	of students appeared	d for exam	- 33			1.1				
l'otal No	or students appeared									

Radiation Physics

Anatomy

Physiology

Pathology

20%

24.00%

38.00%

46.00%

19%

12.	100000				
Para	Med	ical	ш	Year	DMIT

Total No of students appeared for exam - 07

Sl. No.	Subject	No of Students	No of students	Percentage	Distinctio n	I class	II class	Pass	Total Results %	of Students
1	Radiographic Photography	7	7	100%						
2	Radiographic Positioning	7	7	100%						
3	Radiographic Positioning Practical	7	7	100%		-		6	86%	6
4	Special Procedures	7	6	86%						
5	Special Procedures Practical	7	6	86%						

Para Medical 1st Year , Health Inspector

Total No of students appeared for exam - 10

Sl. No.	Subject	No of Students appeare	No of student s Pass	Percentag e	Distinc tion	I class	II class	Pass	Total Results %	Total No. of Student
1	Chemistry	9	2	22.00%						
2	Physics	10	3	30.00%				2	2004	2
3	Biology	8	6	75.00%	-	•	-	2	20%	
4	English	8	8	100.00%						

Para Medical II Year, DHI

Total No of students appeared for exam - 08

Sl. No.	Subject	No of Students	No of student	Percentag e	Distinc tion	I class	II class	Pass	Total Results	No. of Student
1	Paper-I	7	5	71%						
2	Paper-II	8	3	37%		-	_	3	37%	3
3	Paper-III	7	4	57%	-			3	3770	3
4	Practicals	6	6	100%						

Para Medical Final Year, DHI

Sl. No.	Subject	No of Students appeare d	No of student s Pass	Percentag e	Distinc tion	I class	II class	Pass	Total Results %	Total No. of Student s pass
1	Paper - I	6	6	100%						
2	Paper - II	7	6	86%						
3	Paper-III	6	6	100%	-	-		6	60%	6
4	Practical & Viva Voce	6	6	100%						

Dana	Mad	inal	1st V	loan	DOT	
Para	wea	ıca	ISTY	еаг	DUL	

Total No of students appeared for exam - 10

Sl. No.	Subject	No of Students appeare	No of student s Pass	Percentag e	Distinc tion	I class	II class	Pass	Total Results %	No. of Student s pass
1	Physics	9	5	55.00%						
2	Chemistry	10	5	50.00%		_		4	40%	4
3	Biology	9	4	44.00%	-	-	-	4	40%	4
4	English	9	9	100.00%						

Para Medical II Year, DOT

Total No of students appeared for exam - 03

Sl. No.	Subject	No of Students appeare d	No of student s Pass	Percentag e	Distinc tion	I class	II class	Pass	Total Results %	Total No. of Student s pass
1	Paper-I	3	2	67.00%						
2	Paper - I (Practical)	3	2	67.00%						
3	Paper-II	2	2	0.00%		-	.=	1	33%	1
4	Paper-II (Practical)	2	2	0.00%						
5	Log Book	1	1	100.00%						

Para Medical Final Year, DOT

	3. S. S.									
Sl. No.	Subject	No of Students appeare d	No of student s Pass	Percentag e	Distinc tion	I class	II class	Pass	Total Results %	Total No. of Studen s pass
1	Paper-I	10	9	90.00%	-		-	7	70%	7
2	Paper - I (Practical)	10	9	90.00%						
3	Paper-II	10	8	80.00%						
4	Paper-II (Practical)	10	8	80.00%						
5	Log Book	10	10	100.00%						

	edical 1st Year DMF o of students appea		- 4							
Sl. No.	Subject	No of Students appeare d	No of	Percentag e	Distinc tion	I class	II class	Pass	Total Results %	Total No. of Student s pass
1	Chemistry	3	0	0.00%				-	-	
2	Physics	4	1	25.00%						
3	Biology	4	2	50.00%		-	_			-0
4	English	3	3	100.00%						

Para Medical Certificate Course IInd Year DMRT

Total No of students appeared for exam - 2

Sl. No.	Subject	No of Students appeare d	student	Percentag e	Distinc tion	I class	II class	Pass	Total Results %	Total No. of Student s pass
1	Anatomy/General Physiology	2	1	50%						
2	Hospital & Biostatistics	2	1	50%	_	_	_	1	50%	1
3	MRS	2	1	50%	-	_		•	3070	1
4	MRS Practical	2	1	50%						

Para Medical Certificate Course III Year DMRT

Sl. No.	Subject	No of Students appeare d	No of student s Pass	Percentag e	Distinc tion	I class	II class	Pass	Total Results %	Total No. of Student s pass
1	Computer Sciences	1	1	100%						
2	Computer Sciences Practical	1	1	100%						
3	Hospital Administration	1	0	0%						
4	Medical Surgical Coding	1	1	100%	-	-	-	-		-
5	Medical Surgical Coding Practical	1	1	100%			~			
6	Medical Terminology	1	1	100%						
7	Project Report	1	1	100%				, I		